1) la division
Rappel: 24 : 6 = 4 ( 24 divisé par 6 égal 4) car 6 x 4 = 24
                 Je cherche dans la table de 6 ce qui fait 24.
	
48 : 6 = 8 car    6 x 8 = 48

	
40 : 8 = 5 car    8 x 5 = 40


	
24 : 4 = 6 car    4 x 6 = 24

	
72 : 9 = 8 car    9 x 8 = 72


	
10 : 5 = 2 car    5 x 2 = 10

	
70 : 7 = 10 car    7 x 10 = 70


	
63 : 9 = 7 car    9 x 7 = 63

	
16 : 4 = 4 car    4 x 4 = 16




2) Convertis ces longueurs
	
230 dm = 23 m

	
4 300 m = 430 dam


	
17 hm = 170 000 cm

	
54 dm = 540 cm


	
73 hm = 73 000 dm

	
120 dm = 1 200 cm


	
1 500 dm = 150 m

	
1 700 dam = 17 km


	
47 dam = 470 m

	
9 dm = 900 mm


	
89 dm = 8 900 mm

	
75 000 dm = 75 hm
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	1
	1
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	1
	1
	1
	

	
	8
	2
	5
	
	
	8
	13
	7
	
	
	6
	7
	5
	
	
	
	
	7
	2
	9

	+
	7
	4
	1
	
	-
	5+1
	7
	2
	
	X
	
	
	9
	retenues
	+
	1
	2
	8
	8

	+
	5
	3
	6
	
	
	2
	6
	5
	
	6
	0
	7
	5
	4
	6
	
	2
	0
	1
	7

	2
	1
	0
	2
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	7
	4
	5
	
	
	
	
	
	
	
	5
	0
	6
	
	

	
	
	
	X
	
	9
	2
	retenues
	
	
	
	
	x
	
	4
	3
	retenues

	
	
	
	1
	1+4
	9
	0
	1
	
	
	
	
	
	1
	5
	1
	8
	1
	

	+
	
	6
	7
	0
	5
	0
	4
	4
	
	+
	
	2
	0
	2
	4
	0
	2
	

	
	
	6
	8
	5
	4
	0
	
	
	
	
	
	2
	1
	7
	5
	8
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



